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OROAIAE! OFM 2t | & A 2,500,000& *43| 10,000
202 04 d| 3,000 3,000
01 2L HI 3,000 3,000
omgdasg el 3,000,000 3,000
206 M = Hl 50,336 38,336
01 Mzl 50,336 38,336
O&=4+Hel 2aly 10,000& *3,0004 30,000
OLs52%E P2 26,400& x204 *12& 6,336
OFE4£H2E a2 20,000& x700= 14,000
308 XX SHHSO0IA 37,500 90,000
07 AIXISHH2EE 2 37,500 90,000
OHJIZXHERE=2 &8 15,0002 2,500 37,500
401 Al HI 2L 2 0HHI 666,925 768,213
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M Hape
ohel Ay AL (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 Al &bl 666,925 765,000 A 98,075
Oz==328(HF, JIAH, A& S)
5,000,000& x7&*23| 70,000
OFE+=XelAE ol MFE AXZA 479,925
— E&=HM2AE b NFRX &X
150,000& *3,000m" 450,000
— HE=HM2AANE b NFX AX3A &
Al & A HI 450,000,000 x6.65% 29,925
OUEZE MESSEHEY 2233 WA
17,000,000 = 104 2 17,000
OEEHIAE S tdBE XA
50,000,000 *20H 2 100,000
405 XHoHE S HI 207,295 663,080 A 455,785
01 et EFHSHI 207,295 663,080 A 455,785
O HEES =288 ds=dl 7
4,000,000 = 1CH 4,000
O&E==XeANd =237 200,600
— Wsol o greE
47,0003 *3,20000 x 15 150,400
— ROEHl RX2e2 237¢
8,000,000& =63l 48,000
— MR UEITA BE ARSE 7Y
550,000& *4H 2,200
OHJIEZEgMelE 28X AHsFelar =¢
Jl 2 2,695
—YEEY Tts7cla =YD
1,540,000& = 1CH 1,540
— JHE0EHBEEHI) MHSHA F
201 1,155,000& = 1CH 1,185
HOISX2SAE 22 2,614,273 1,976,231 638,042
207 A RO &I 30,000 0 30,000
01 22 ESHI 30,000 0 30,000
OZATHEIANL P2 Helgo g
30,000,000& =12l 30,000
307 21201 A 2,584,273 1,914,631 669,642
05 RIZt2IEt = 2,584,273 1,914,631 669,642
OZATXANE AE2LH N2
158,492 1& x45& x220 1,569,072
OZYAdMelANE ZIIBE E=HE
130,000, 000& *23| 260,000
OHJISHERYS R (A E)
15,000& *4,500& 67,500
OCLEAZ NS 2EHHIE XS
20,0003 x150E+12& 36,000
OdH™elAlE =48l 651,701
- 22574 30,300,250& x4 121,201
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—AJ2H Fd 60,500,000 = 1CH 60,500
— o2 2 470,000,000 = 1CH 470,000
Ml SEME 368,745 506,473 N137,728
101 @124l 24,272 23,593 679
04 JIZHHZ2Z2XNHESE S+ 24,272 23,593 679
O=ESHNMX destE FA02Y 19,776
—Jlegs 68,720 x4H 552 15,119
- =54 68,7203 x»4H 11 3,024
—-S8= 18, 143,000 *9% 1,633
O #AMIH F202 4,496
—Jles 68,7203 x5 x10 3,436
- =549 68,7202 x5 % x2 688
—S8= 4,124 ,000& x9.0% 372
201 B2l 35,100 28,700 6,400
01 At 22l 26,700 22,700 4,000
OS8EJ| ol =2 70,0003 *300H A +22] 4,200
OoMYJl 2EYSI| 20H M=
400, 0003 *15J4 & 6,000
OHg&s 28HHIE 500,000 *43| 2,000
OHZ2s 8 =23+2 100,000& «5&*122] 6,000
OHALE BA2Y 24lHl 8,000 +33«100H 2,400
OBZEN YIAY NASE 79
5,000 *5&*43| x20 &l 2,000
OMeES NNy 223 7¢
1,000& *2,000H 2,000
ORFE Ma¥ 2RMY s g
100, 000& * 13l 100
O&N Hs< A2tX™el H& 2,000,003 1& 2,000
02 232gHl 8,400 6,000 2,400
Ogses U SHNH X Byl
1,000,000 «4J4 & 4,000
O =2HIIS& 3/t (20208 =)
2,000,000& 13 2,000
OZAlJthiet & 2eloteA S &I, See=
200,000 1204 & 2,400
202 oddl 3,000 3,000 0
01 SLHOIYI 3,000 3,000 0
OoMdIIIEsSErH=d 3,000,000& 3,000
206 M= Hl 50,460 61,430 A 10,970
01 =8l 50,460 61,430 A 10,970
OXeJIEENMSE MEH 50,460
—ZEHMEEAA(5L) 31&=40,0000H 1,240
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—ZEZHEEF2(10L) 38 x50, 0000H 1,900
— =2 2 (20L) 582 *300, 000 0K 17,400
—ZZHEEF2(50L) 1242 100, 0000H 12,400
—SZHEEAF2A(100L) 2193 80, 0000H 17,520
401 Al HI L 2 04| 186,413 312,250 N 125,837
01 Al&H| 185,000 310,000 A 125,000
OSHAEE SHAE HHI
20,000,000 74 &~ 140,000
O22IotA &XAY 15,000,000 »3JH 2~ 45,000
03 AlE 21| 1,413 2,250 N 837
SH MNEH AL AS
140,000,000 *0.72% 1,008
OSclotA E&XAY 45,000,000& *0.9% 405
405 KHoHFE S HI 69,500 77,500 A 8,000
01 JHMtY = EF S H 69,500 77,500 A 8,000
OHJI2 & MHeEEsE Hels dsuA ol
10,000,000 =44 40,000
OFAMH MHEE SHEAA A
1,000,000& x1x 1,000
Oolsg 2ZAIH0ct ¢ 4,500,000 «5CH 22,500
OMessE =Hg 2 6,000
—HE8Z2S =HE 100,000& =124 1,200
— HAEX £=HE 200,000 64 1,200
— HJIE =& 600,000 64 3,600
CESY0E EH NN 786,150 478,700 307,450
= 393,075
= 393,075
401 A& HI L E0HHI 786,150 478,700 307,450
= 393,075
= 393,075
01 Al&H| 786,150 478,700 307,450
O SY0E F=EHEN XIAY
3,440,000 x180= 619,200
= 309,600
= 309,600
OLE SY0lE HIF=EHE)N NIAAY
1,720,000 *35= 60,200
= 30,100
= 30,100
OXSMe XSAY 4.270,000@ x25= 106,750
= 53,375
o 53,375
SASFHII=S SEH =& 237,577 213,300 24,277
201 LBt Y| 19,700 19,700 0
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 5,300 5,300 0
O3 2EH(EXN & RERI)
B600& *2500H &+ 12 1,800
O8Jl & RFIDILE P LI 50,000 70K 3,500
02 =224l 14,400 14,400 0
ORFID M2 HI 1,200,000& « 1204 & 14,400
307 gl2tol & 193,877 193,600 277
05 RIZHRIEF 3 193,877 193,600 277
OSAMNERHIIS e
286,8003 «208L +3.25& 193,877
405 XHoHF S HI 24,000 0 24,000
01 AR ESFH S 24,000 0 24,000
OSAEFRHIIE ANEAY 2&I 72¢
6,000,000 *4H 2 24,000
HAWEY =R 90,540 60,540 30,000
401 AIEHI L 20 90,540 60,540 30,000
01 A& Bl 90,000 60,000 30,000
OFAXZHN e FL=JAAY 90,000
—=30tS OU=3Hg2 A4 stE4 N ALY
150,000& =100 m* 15,000
— 2502 A4HEZ 2 =0AL &X
15,000,000 =104 2 15,000
—ol70tS AGHE M S AL 300,000 *100m 30,000
— 0Y%0tE ASHA HHIAFZ 300,000 *100m 30,000
03 A& SR THHI 540 540 0
OBALXHE2N HE LU= ALY
60,000,000& *0.90% 540
SEHHE=HEHAZS XA 73,642 70,000 3,642
= 7,352
< 7,352
s 58,938
301 LEHZ 73,642 70,000 3,642
= 7,352
< 7,352
s 58,938
12 JIEBHE4 = 73,642 70,000 3,642
SEHHE =HZ3 100& x736,420kg 73,642
= 7,352
< 7,352
s 58,938
=il =H XN 19,800 19,800 0
301 LPEAS 19,800 19,800 0
12 JIE2 43 19,800 19,800 0




SN BHSAMD
M Hape
Chel: FAdF et (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OsZHHIE+=AEAS(2HIFIHE)
100& *43,000kg 4,300
OsA8BIT =HEHS 200& *50,000kg 10,000
OgsHllEe =A2+=tH Z&=3 5,500
— & 2,000,000 =12 €+ Xl 2,000
— iRy 1,000,000 20 & Xl 2,000
-S4 500,000 *3H &+ Xl 1,500
SSEEA 22 181,830 131,380 50,450
201 LB-2E| 20,480 20,480 0
01 At 2t 2l 14,080 14,080 0
Oo0lsAlsHAA 22l & TA 500,000 «10H 5,000
O0lsAlst A 215 Xl 2,000,000& »23l 4,000
OZsatza otifE WA
100, 00021 *23) +7 7} A 1,400
OZZsima ¥4 ¥ RRASE 7Y
14,000& 105 x 123l 1,680
O0lsAlstEA 2EHEHIZRE
200,000& =103l 2,000
02 =224l 6,400 6,400 0
O35z w2l 100,000& *20H 2,000
O0ISASEAY B2
100,000& *203| 2,000
Oz=sd 222= N 200,000& =122 2,400
401 AIEHI L 20HEI 161,350 110,900 50,450
01 A& HI 160,000 110,000 50,000
OEdeist@a B3 At 5,000,000& 23 10,000
OZSs&a AXSA 150,000
—d3H JHEOS 50,000,000 =14 2 50,000
— 28 =302 50,000,000& =14 2 50,000
—ot8® EXI0S 50,000,000 =104 2 50,000
03 A& S THHI 1,350 900 450
OZ&staa AXZA 150,000, 000& *0. 9% 1,350
StEGH MY DI E aHALY 70,000 51,429 18,571
= 49,000
[ia 21,000
101 1A Hl 55,281 37,135 18,146
= 38,697
i 16,584
4 JI2ZtHZ22 a2+ 55,281 37,135 18,146
O otdot2ESAIY R 55,281
—Jles 68,7203 x9H x68 42,057
= 29,440
[ia 12,617
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SN BAAND
H: HAae
ol HasEae (B9 ®R)
= - = 4 &
A B SA(BA) - NRAY - BES e HI D52
- F5=+9 68,7203 x9H 14 8,659
= 6,061
[Ea 2,598
— 28 50,716,000 *9% 4,565
= 3,196
= 1,369
201 28tE Y 11,919 11,774 145
= 8,343
[Ea 3,576
01 At 22l 11,919 11,774 145
Ofss =7 500,000& 103l 5,000
2 3,500
= 1,500
OFak 500,000& =103/ 5,000
= 3,500
= 1,500
OHII=< & Xeldl 191,900& =102 1,919
2 1,343
= 576
202 o4l 2,800 2,520 280
2 1,960
= 840
01 S OHI 2,800 2,520 280
Oodtd & 3tALE 04 4 20,0003 x7H »20& 2,800
= 1,960
= 840
SSdoty == 30,000 30,000 0
2 9,000
[a 21,000
401 Al HI ™ 30,000 30,000 0
= 9,000
[a 21,000
01 A€ dl 30,000 30,000 0
OdsHlls 2= 2HEXH
250,000& »20m *6 4 A 30,000
= 9,000
[Ea 21,000
222 (8014 =S 4,380 2,000 2,380
£ 2,190
[a 2,190
201 ¢ete2d 4,380 2,000 2,380
£ 2,190
[Ea 2,190
01 At 22l 4,380 2,000 2,380
onNgs 1,000& =4, 3804 4,380
& 2,190
= 2,190
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M ®apel
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FAHF2Y 25,000 45,000 A20,000
201 £B-2d| 16,000 16,000 0
01 At 22l 16,000 16,000 0
OBH0IE AFFY 7Y
100,000& 565 +32¢& 16,000
301 LeHBAF 2,600 2,600 0
09 SALEHIX A S 1,600 1,600 0
Ostzdilstad etdn=s & MU
50,000& x32H 1,600
12 J|EtE 4= 1,000 1,000 0
Odll ZTAZ(HIIS 8HED S)
10,000& =100 1,000
303 Z& = 6,400 6,400 0
01 Z& = 6,400 6,400 0
Ostdilstad Hd&XAS 100,000 «32H x2 6,400
Meg 2t Wil del N 120,427 0 120,427
S 36,128
i 84,299
307 glz2tol & 120,427 0 120,427
< 36,128
s 84,299
05 RIZHRIE 3 120,427 0 120,427
ON&gs 2ot Hils Al
240,854 & 500 120,427
< 36,128
s 84,299
SAEE A2 =AHA24H XA 5,894 0 5,894
< 2,947
s 2,947
301 EEMZ 5,894 0 5,894
< 2,947
s 2,947
1224 S 5,894 0 5,894
Os=s2%ABIY A2 =AHA24H XA
2,500& *2,357.6kg 5,894
< 2,947
s 2,947
Hass =3 HdEs N2 274 0 274
< 137
[ia 137
201 £B-2dH| 274 0 274
< 137
s 137
01 At 22/l 274 0 274




(<o) (<o) o o o o (] (<o) <o) © o (]
(o)) [0)) [aN) [aN) [aN) [Ye) [Ye) [Ye)
~ . S IO )
A0 8 8 A A
Klo
El
E=]
o o o o o o o < < o < o o o o o
Y} Yo} o («] o o o [<e] [<e] o © o o o o o
© © N<e |2 NN — | |= A < © © ©
w w < < < [ee] o) <t — [ep] (a) D D ()]
H3r - -
m<l
RS
N O MO OO < O MO OO < o o o o o o o o o o o o o o o <t [Co) o o o o o O o O O o
M~ O ™ < WO — M~ < WO — M~ (V) [aN) [aN) o o [eN] o o o (V] (V] o o o [QN) [ee] ™ o o o O 00 AN O O AN o
N - IS NS edN | [9]|® e < O NN NN N9 0 v o e Q[Q XN [Q 0 N9
[aV) — [aV) —
=
o
<
(=
W (I W m W e W
0 = = all Y Ko = IF W [l
— o o o Y] [Te] o [aN] [ap) o
- 3 3 ® oy o+ W3 T 3 3
@ e =g o .
ar & W 5 S s " E @ g
%0 S S 8 x < S g S 3 >
- ISERS (s o RERS] - ™
m._ < ol - - o < * - N~ -
ol |= o © m oF 0
—_ n
5 |» bl 8 o
- oo 20 Rr 30 ol
=z |x ) ) = [
g s R x M E
= [o U 20 z 3 3
oy KD Kio oF g0 =
= ¢ o < ) mw Wﬁ mm
ok o £l _ — = _ . a a
o ol o = o _.._r_u ) Ho o A0 ol o o
o L Hio = o = | 20 3 . B0 IO =] pd 20
ol "3 + Al Ko oM 71l ] 0 R & ) by hil|
& = ™ - i i - o — = —
_.._.M = - m_u < ol | ok TRCOMH DO | T[T o) [T
&0 |O < =3N0) ol |~ = O O O3 | ol =
: « e = = b= = S = = N
X a 20 & & &

20

Ok

ok

- 22 -




SN HEAMD
M gMpe
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] i _ Il -
SA BB (SH) - NRAY - B Ol At o %l&g“‘ HRE2
OAHI XA ZSAMZAIR ESH|
50,000& x6H «323| 9,600
= 2,880
= 6,720
HEloDsAE dd2ed 29 2,500 4,000 A 1,500
= 1,250
& 375
= 875
301 et X = 2,500 4,000 A 1,500
= 1,250
== 375
= 875
12 JIEtE2 &= 2,500 4,000 A 1,500
O0Nelol JIsAalsE dMgaeld s
50,000 23 x5! 2,500
= 1,250
& 375
= 875
2ZTAM o 2AIY E=H XN& 2,500 2,500 0
== 750
= 1,750
301 LBt A= 2,500 2,500 0
= 750
= 1,750
12 JIEtE A2 2,500 2,500 0
OB Z2ZRM2ZAIFE SSKE 50,0008 *x503] 2,500
= 750
= 1,750
AL 2AIE E=H| 1,200 0 1,200
= 600
= 600
301 et A =2 1,200 0 1,200
= 600
= 600
12 JIEtE A= 1,200 0 1,200
OAMUNHZAIE &sdHl X3
50,000 2 x 12! 1,200
= 600
o 600
NAH Jl=fdael A 4,406 5,606 A 1,200
= 2,203
= 2,203
201 LBt Y| 2,546 2,546 0
= 1,273
= 1,273
01 AP 22| d| 1,200 1,200 0
OKREAE £=HA A 5,0008 x24=+103) 1,200
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SAE MSZE HOIXA 5,500 2,700 2,800
== 450
= 5,050
201 gBt2A | 5,500 2,700 2,800
o= 450
= 5,050
01 AP 22| H| 5,500 2,700 2,800
OSAMEAMSSH =23 ¢
4,000€ x5+ 10004 & 2,000
OSAE AMsS2 IE g4 N
100, 0002 2= 1004 & 2,000
OSAE AMSZH ZEIIXNE
300,000 x50 &~ 1,500
= 450
= 1,050
E2ACE GHSAAE T 14,520 12,000 2,520
201 et 9| 14,520 12,000 2,520
01 AFR 2t 2| H| 4,920 0 4,920
OUESAHE MYIIE2EXH
8203 *30H & 2002 4,920
02 E=22%H| 9,600 12,000 AN 2,400
ORHAL ALERD LM X
800,000& x12& 9,600
SAH AMEEHINA XA 35,000 0 35,000
o= 15,000
= 20,000
402 SI2tXHE0| ™ 35,000 0 35,000
& 15,000
= 20,000
02 CIZtXIE A E X (0| XM THH) 35,000 0 35,000
O SAE ANESHMNEXSE
7,000,000& *5JH & 35,000
o=t 15,000
= 20,000
QotSAlN X2)ls AN HAAEEY = 20,000 0 20,000
201 et | 20,000 0 20,000
01 AP 2t 2] H| 20,000 0 20,000
OLEISAIE & U2 UFH X20ls 24
g NE 2,000,000 1004 2~ 20,000
HRE=(2FAM) 267,000 330,000 A 63,000
WEAHA XK= 267,000 330,000 A 63,000
HIISXKEIANEFOXNRAIZ2 &2 267,000 330,000 A 63,000
702 12852 267,000 330,000 A 63,000
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S WEAHAHX = (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
0MNII3EES 267,000 330,000 A 63,000
OHYISMeAE=UXNRIIZ &5
267,000, 000& 267,000
B2 (2240 27,300 25,020 2,280
Jl= &l 27,300 25,020 2,280
2AM Jl=3H| 20,400 18,000 2,400
201 Let24dy] 7,560 6,720 840
01 At 22/l 7,560 6,720 840
OJlggexd 35,0003 x18H 128 7,560
202 O4dl 8,640 7,680 960
01 = LH 4 Hi 8,640 7,680 960
OJlegexa 8,640,000& 8,640
203 YR =2l 4,200 3,600 600
04 FN2IELSF=TH 4,200 3,600 600
O&F3A 252 Olst 350,000& 122 4,200
g& Jl=&dl 6,900 7,020 A 120
201 Let24d] 6,900 7,020 A120
01 At 22/l 6,900 7,020 A 120
OMJIHEd ¢X 60,0003 x1H*115 6,900
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